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SECTION - A
i) General Awareness
1. Entomology is the science that 6. Coral reefs in India can be found in
studies (A} The coast of Orissa
{A) Behavior of human beings (B) Waltair
(B} Insects (C) Rameshwaram
(C)] The onginand history of (D) Trivandrum

technical and scientific terms

(D) The formation of racks 7. Heavy Water Project (Talcher) and

Fertilizar plant (Paradeep) are
2. The largest frash water lake in India is famous industries of
(&) Pulicat Lake (A) Orissa
(B) Veeranam Lake (B) Tamil Nadu
(C) Chilka Lake (C) Andhra Pradesh
(D) Kolleru Lake (D) Kerala
3. The headquater of the Coffes Board 8. India's first Technicolor film
of India is in the early 18505 was produced by
(A} Mysare —
(B) Kolkata (A) “Jhansi Ki Rani', Schrab Modi
(C) Bangalore (B) ‘“Jhansi Ki Rani', Sir Syed Ahmed
() Cochin (C) "Mirza Ghalib', Schrab Modi
: ) . (D} ‘Mirza Ghalib’, Munshi Pramchand
4, Film and TV Institute of India is
located at 9, Ilspeed of rotation of the earth
(A} Pune increasas,; waight of the body
(B) Rajkot (A] Increases
(C) Pimpri (B Remain unchanged
(D) Perambur (C} Decreases

5. Who among the following appoints (D) May decrease or increase

the Prime Minister of India 7 10. Human Rights Day is on
{A) Lok Sabha (4) 24 February
(B) Rajya Sabha (8] 10 December
{C) The President of India (C) 15 May
(0)  The Chief Justice of Supreme Court (O) 21 July
A -4
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1

12.

13.

14,

15.

A

indian Institute of Petroleumn i5
located at

(A} Dehradun
(B) Kolkata

(C) Dhanbad
(D) New Delhi

Kathak, Nauntanki, Jhora and Kajri
are the important dances of

(A) Uttaranchai

(B) Uttar Pradesh

(Cy Jharkhand

(D} Chattisgarh

Taoism Is followed in

(A)  Worldwide

(B) lrar and Northwest India

(Cy China, Taiwan, Nauru, Brunei,
Singapore and Vietnam

(D) Japan

The system of competitive
axamination for civil service was
accepted in principle in the year
(A) 1833

(By 1853

(C) 1858

(D) 1882

Maohintattam dance farm developed
griginally in-which State i

(A} Tamil Nadu

(B) Orissa

(C) Kerala

(D} Karnataka

16.

T

18.

19,

20,

AT

The National Song of India was
composed by

(A} Rabindranath Tagore

(B) Bankim Chandra Chatterjl
(C) Igbal

(D} Jai Shankar Prasad

Whio has written the book "My
Frazen Turbulence in Kashmir 7

(A) Anees Jung
(B} Jagmohan
(C) M. J. Akbar
(D) Missim Ezekiel

Whio directed the film 'Sardar 7
(A) DasGupta

(B) Shyam Benegal

(C) Tapan Sinha

(D) KetanMehta

Which of the following was not a
Constituent Assembly Member 7
() G Durgabai Deshmukh

(B) Mrs. Hansa Mehta

(C) Mrs. Renuka Roy

(D) Vijayalaxmi Pandit

The financial year in India starts from
{A) January

(B) April

(G} March

(D) October
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if) General Intelligence and Reasoning Ability

21. Sponge is to porous as rubber is to
(A} massive
(B} solid
(C) ealastic
D) inflexible

22, Hera are some words franslated from
an artificial languags.

myncabel means saddle horse
conowir means trail ride

cabelalma means horse blankat
Which word could mean "horse ride" 7

(A) cabelwir
(B) conocabel
(C) aimamyn
(D) conoalma

Directions for Q. No. 23 and 24 - Each
question has an underined word followed
by four answer choices, You will choose
the word that is a necessary part of the
underlinad word.

23, lightning
(A)  electricity
(B} thunder
(C)} brightness
(D) ramn

24. desert
(A) caectus
(B) arid
{C) oasis

(D) fat

Directions for Q. No. 25 10 27 : Each

problem consists of three slatements.
Based on the first two statements. the third
staterment may be true, false, or uricertain,

25. Taking the train across town is quicker
than taking the bus.
Taking the bus across town is slower
than driving a car,
Taking the train across town is quickar
than driving a car.
If the first two statements ara trug, the
third statement is

{A) True
(B) Falge
(C)  Uncerain
(D) Certain
26. Cloudy days tend to be mora windy
than sunny days.
Foggy days tend to be less windy

than cloudy days.
Sunny days tend to be less windy

than foggy days.
If the first two statements are tru &,

the third staternent is
{A) True

(B False

(C)  Uncertain

(0} Certain
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At a parking lot, a sedan is parked
to the right of a pickup and to the left
of a sport utility vehicle.

A minivan is parked to the left of the
pickup.

The minivan is parked between the
pickup and the sedan.

If the first two staterments are true,
the third statement is

(&) True
(B} False
(C) Uncertain

(D) Certain

Arrange the following in 2 meaningful
sequence :

1. Honey
2. Flower
3. Bee
4. Wax

(A) 1342
(B) 2143
Q) 2314

(D) 4,321

0000 0 O

29, Arrange the following in a meaningful
sequence

1.
2
3.
4.
(A
(B)
()
(B

Reading
Compaosing
Whiting
Printing
13,24
2.3.4,1
3,1.2.4
3241

Direction for Q. No. 30 and 31 : In aach
serigs, look for the degree and direction
of change between the numbers. In other
words, do the numbers increase ar
decrease, and by how much.

30. Lookatthisseries:2 4 6, 8,10, ...
What number should come next 7

3L

=10-

(A)
(8)
(<€)
(D)

11
T2
13
14

Look at this senes : 201, 202, 204,

207

... Whal number should come

next ?

(Al
(B]
{C)
(L)

205
208
210
211
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2g. w1 wehyel sy & amdu

1.

(A)
{B)
(C)
()

Lol

L

2. TRIaE Al
3.
4, =

e

1324
2,341

3,124
3.2.4.1

(v 7. 30 3 31) ; e gjEeT & e
% =9 % FEera F a4 o faen £ afw aE
#ifam | gaea o, HEd awd @ g2 B, o
T a7

30, WEE 2, 4, 6, 8,10, .., 7 377 HE=
FAHR?

31,

(A
(B)
(C)
(D)

11
12
13
14

AT 201, 202, 204, 207, ... T 37
e ERE R

(A) 205

(8} 208

(<)

210

(D 211
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32. 3810151722 24
(A) 2628
(B) 2934
C) 203
(D) 2831

33 4726101320 15
(A) 144
B) 1417
(C) 1B:14
(D} 1914

34, 322926232017 14
(A) 118
(B) 128
S 117
(D) 3229

35, 162656 35 46 68 56
(Al BB&5
(B) 6482
(C) &880
(D) 78588
38.  Which word doses not belong with
the others 7
(A) heading
(B) body
(C)  ietter
(D} closing

As

O 50 00 o g

37. CAT:DDY - BIG ;2
(A} CLL
(B) CLM
(C) CMmL
(D) CEp

38 KMF:LLH:RMS .2
(A) SLR
8) SLU
(C) ssu
(D) suUs

39, BIGE : JQOM :: Rywy - 2
(A} AGFD
(B) ZFDB
(C) ZGEC
(D) ZYvx

Direction for O, No. 40 : Choose tha! set of
numbers from the four alternative sets, that
is similar lo the given sat,
40. (32 2a. 8)

(A) (28 32, 42

(B (34 24 14)

(C) (24, 18, 0)

(0} {(az 34, 18)
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41,

42,

43,
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lif) Arithmetical and Numerical Ability

What is the least number of squares
tiles required to pave the floor of a
room 15 m 17 cm long and & m 2 cm
broad ?

(A) B14
(C) B4D

(B) 820
(D) B44

In Arun's opinion, his weight is greater
than 65 kg but less than 72 kg. His
brother does not agree with Arun and
he thinks that Arun's weight is greater
than 80 kg but less than 70 kg. His
mother's view is that his weight cannot
be greater than 68 kg. If all are them are
comrect in thelr estimation, what is the
average of different probable weights
of Arun 7

(A) &7 kg
(B) 88kg
(C) 69kg
(D) Data inadeguate

The effective annual rate of interest
corresponding to a nominal rate of 6%
per annum payable half-yearly is

(A) 6.06% (B) B6.07%
{C) 6.08% (D) 6.09%

The top of a 15 matra high tower
makes an angle of elevation of 607
with the bottorm of an electric pole and
anglie of elevation of 30° with the 1op
aof the pole. What Is the height of the
electnc pole 7

{A] B metras
(B] Bmetres
(C) 10 metres
(D} 12metres

45,

48,

47.

43,

On dividing a number by 5, we get 3
as remainder, What will the remainder
when the sguare of this number |5
divided by 5 7
(A) 0
) 2

(B) 1
Dy 4

In an election between two candidates,
one got 55% of the tolal valid votes, 20%
of the votes were invalid. If the total
number of votes was 7500, the number
of valid votes that the other candidate

got, was
(A) 2700 By 2900
(C) 3000 (D) 3100

In how many different ways can the
letters of the word ‘DETAIL' be arranged
in such a way that the vowels occupy
only the odd positions 7

(A} 32 (B) 48

(C) 36 (D) &0

Two pipes A and B can fill a tank in
15 minules and 20 minutes
respectively. Both the pipes are
opened together but after 4 minutes,
pipe A is turned off. What is the total
time required to fill the tank 7

(A) 10 min. 20 sec.
(B} 11 min. 45 sec.
(C} 12 min. 30 sec.
(D) 14 min. 40 sec.

Two dice are tossed. The probability
that the total scora is a prime number is

(A} 16 (B} 512
(C) 112

(D) 7ig
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50.

51

52.

53.

54.

23

A

Sachin is younger than Rahul by

7 years. If their ages are in the
respective ratio of 7 1 8, how old is
Sachin ?

(A) 16 years (B) 1Byears
(C) 2Byears (D) 24.5years

The least number which when
divided by 5, 8 , 7 and B leaves 8
remainder 3, but when divided by 8
lgaves no remainder, is

(A) 1877 (B) 1683
{C) 2523 (D) 3363

Find a positive number which when
increased by 17 is equal to B0 times
the reciprocal of the number.

(A) 3 (8) 10

(©) 17 (D) 20

A train speeds past a pole in

15 seconds and a platform 100 m
long in 25 seconds. Its length I
(A) 50m

B) 160m

(C) 200m

(D) Data inadequale

A trader mixes 28 kg of rice at
Rs. 20 per kg with 30 kg of rice of
othier variety at As. 36 per kg and
sells the mixture at Rs. 30 per kg.
His profit parcent i

{A) Mo profit, no loss (B} 5%
(C) 8% (D) 10%

The salarles A, 8, C are in the ratio
-3 -5 |f the incraments of 15%, 10%
and 20 are allowed respectively in
iheir salaries, then what will be new
ratio of their salaries 7

(A) 3:3:10

(B) 10:11:20

(C) 23:33:60

(D) Cannot bs determined

56,

57.

a8.

59,

A sum of money amounts to Rs. 9,800
after 5 years and Rs. 12,005 after

& years at the same rate of simple
intarest. The rate of interest per annum is
(A) 5% (B) B%

(€) 12% (D) 15%

Heow many kilogram of sugar costing
As. 8 per kg must be mixed with 27 kg
of sugar costing As. 7 per kg so that
thera may be a gain of 10% by selling
the mixture at As, 9.24 per kg ?

(A) 36 kg (B) 42kg
(C) 54kg (D) 63kg

in covering a distance of 30 km,
Abhay takes 2 hours more than
cameer. If Abhay doubles his speed,
then he would take 1 hour less than
Sameer, Abhay's speed s

(A) 5 kmph (B)
(C) 6.25kmph (D)

B kmph
7.5 kmph

4 men and & women can complete

a work [n 8 days, while 3 men and

7 women can complete it in 10 days,
In how many days will 10 womean
gomplete it ?
(A) 35

{C) 45

8) 40
(D) 50

A cistarn of capacity 8000 litres
measures extemally 33 mby 26 m
by 1.1 mand its walls are 5.cm thick.
The thickness of the bottom is

(A) B0cm (B} 1dm
(€} 1m (D) 1.1cm
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50. WA TEA 8 7 9 BRI 8 | e SR
IR FON: 79 STE d 2, M AR
IFNET
(&) 16E= (B) 18
(C) 28%m (D) 2459

51, Tee AT aEn = Fa5,6,7 N E8d
q =T TR 2 a=e f e W
I8 g YT AT T ES AR =,
FeaEn i
(A) 1677 (B) 1683
(Cy 2523 (D) 3383

52, T R T A, W 38 17 8 FE
a1 & 99 J% 359 =g 6e1 F 60
LCIRAGIE
(A) 3 (B] 10
(C) 17 (D) 20

53 TH A UE G F 158 3l
100 T2 2R F 26 HFE DU Faai 2 |
TEF AR
(&) S0 (8} 150
(C) 200 (D) 3TIaT i

54, UE S 20%, WiH Fee oW I
o6 & .m, =Ee 268t 40 & 36 %, WE
Freit om 3 30 15, . =TEw A e
Tz fufem = 30 = ofs Bt om S
0T AT 2 | SHE AT A A ®
(A) FEEMTIZTE (B) 5%

(C) 8% (D) 10%

55. A BSNCHIF2:3 . 5FAmad|
afe 3 A0 H FEE: 15%, 10% 3T20%
T 1 ST R A 39 Fad = = S
FE 7
(Al 3:3:10
(B) 10:11:20
(C) 23:33:80
D) Tt i waE

A7

57.

58.

58,
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U TR TE s
9800 %, BT & S 8 99 H 12,005 %.
BT 2 | e SReE = e
(&) 5% (B) 8%
(C) 12% D) 15%

9%, Wi fre me =t fraet e o
4t 7 5. vfa e om Tt 27 e
mE S+ § e Bt e e =
AT g 3 S 9.24 5. 9 e

T =1 G A HE 7
() 36 % By 42f. m,
(C) 54 .. (D) 63%F. am

30 fe.dt. 1 =t 79 = & Tom v
a7 & 2 52 sl oa & | 3 S
ST Tife AT e £ o 9% HHE
1 %27 Y AR | 3 e 2

(&) s sREm
(B} & .. o
(C) 625 & waga
o) 7.5 s

4 T A 6 WEETO U W B A H
T T & Wi 3 P S 7 A S8
F 105511yl = wa # | 10 wiEemd
oz w4 Frme 7 9 qui i 2

(A} 35 (B) 40

(C) 45 (D) 50

T 8000w s AT =R = A T
Faamix2 60«11 slwaETaA
sER 5 8. 0. # ) 355 a9 = A wl

(A} SOHE.HI. By 13.9.
(C) 14 (D) 1189 H.
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iv) Test of Language : Hindi
et wiftaror ; feh

Trerierias weal 2 a0 g9 Torflan |

61, TH & FrEefi e e d 7
(A) TR (B) TFERH

(C) TEfmm (D) TR

62, ‘SEEE w1 YaEEE e

(A) ey (B) T
(C) faam (D) =m
3. ‘amEwl e R
(a) I (B) Tard
(C) 3 (D) =
64, FrEiwmdma smmanfism
(A) STt (B) wieia

(C) wierwrieran (D) wfwaEfam

B85, WS e TN
(A) st (B) fit
(C) == (D) ===

66. Y]5 A1 1 A W |
(A) T EFE BH A AR R
(B) & awsaE S e
(C) & awa g FIgee |
(D) 2 A% B i wH—=T

&7. HGOWAT -

(A) HHET F (B) T

(C) waeEfERET (D) WEE

g8, = + I9g Frafawrn
(A} g (B) sfidsTH
(C) w=gTH (D) R

A=

v 69— 70 : TR F vEn F IR
89. ﬂ'ig-rﬁtl:m@q

(A) ot afy (B) YmEf

(C) Frawm (D) aEm
70. HET + Wi = AEM

(&) @ Efy B TmEf

c) e (D) iy

71, S A o 0 o e

s | adft SR T R

(A) ST T =Y

(B) T e 3A

(C) =98 W= Al /= el

(D) o1 =CET = FH g
72, TR 3 S S
F fore v i 3 faeg
AT AT W S # | 390
ST TR T gEn F fow it
=1 o ¥R Y | TEE EAn s fE
i forve st de o R |
(&) =, (B) #.%
(C) =, (D) T, 7

73, = 9] oK1 7 Reee goe e =
ae FA AR 7
(A) HETE (B) =99
(C) TEH (D) go7EA
74. ‘I - faw et fae Eon
(A} = faen
|y WA R
(C) Zw o faEm
(D) == i e




75. ‘HiEE @ AEeE ®9 8

(A) e
(c) Hn

3w 76 - 80 ; 3mfER TR

Frefertian samm = S 18w 3ed
w1 o 3T 130 T Ag et S A o
miEsa T ERE

it 1
A A TET E A (SR e
=] SIEA & | 98 A Fu= |2 Nt v
Terd oA SEE HEl ¥, Hied 9 9
fererrer | o AT & A T 2 A 9 e
& FTETE A ST 8§ | o = 9 S
& 1 38 forelt o T 35 FEA © 33 A B
T T - T o T WERE U i
tura R T e A as i w Al
zud Tkl uers o A P T 2

ufigya 2

T =l & uid wga ohe 1, FHien 38 s
$ Fr v 5 92 AndtaTee g 5 | TR
g figa S= 9e =T B, St 39F
s T = & fnat oo () T
T s #Rt 37 Al B W () ST
Stare ST L & STEET e | 9 e
i g A =g aT=e1 B, T UmaTH 2
=T 38 UF 60 W FE = e R R
T i se ooga 3 e s o e mm g
SEE T 1 WSS A A% T8 B gl
TATAU S T A% W AEA I |

(B) e
(D) =W

“mEiE e A A AT A #
gE R

(A) TR
(C) HE

76.

=R
(D) ToreEm

Ax

-18-
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31 gt # w1 w @ Hafie gEdi #
fedasn-fafFm s |

(A)
(B)
(C)
(D)

SRR E

frafin A

A B9 H AT9E H FORR TEAT
waTE 4 S11 STE TEg e

g iz T E g A T e

(A)
(B)

(C)
(L}

91 AT AT ST S
Gl

fore v = i H &
e T

AT T2 ETSE o1, =1 |
=s 1 aTTT O sEEaE
ST |

S e 2 e e P A S 7

(A)

(B)

(C)

()

A & wwE 819 e v i
TR _

frrfddti FFaanaien =1 3
T e # |

A et = w6 fern frnfeE
w3 T ofreg S sEvEa e |

wEd1 F1 3 A ~ A =
3T - AT Bl EEALE |

2 v | o e Sraren s EeA R

{A)
(B

{C]

(D)

it o Tarfremes = )

i1 2 e - e 39 e &
FIH-FTH FA TEA © |

e A =i jeEeft H FwE -
FHE

27 i T AT TR
AT AEH HHA & |
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1.

8e.

(A)
(B)
()

s

VA0 0 0 0 0 0

v) Test of Language : English

ATy afteroT ; St
Change the Passive : You can play
with these kittens quite safsly.

These kittens can played with
quite safely.

These kittens can play with you
quite safely,

These Kittens can be played with
you guite safely,

These kittens can be played with
Quite safely.

Select the pair which has the same
relationship,

TEN ; DECIMA

(A)
(B
(C)
(D)

saven ; saptet
four : quartet
two : binary
five : quince

Diraction for Q. No. 83 and 84 : Choose the
word which |s the exact OPPOSITE of the
given words.

83. AWARE

84,

A

[A)
(B)

(©)
(D)

Uncertain
Sure
lgnorant
Doubitful

HIRSUTE

[A]
(8]
<)

(D)

Scaly
Bald
Erudits
Quiet

85,

Direct/Indirect speech : The boy said,
"Who dare call you a thief 7°

(A
(B)
(C)

(D)

The boy enquired who dared call
hirmn & thief.

The boy asked who called him a
thief.

The boy told that who dared call
him a thiet.

Thea boy wondered who dared call
a thief.

Direction for Q. No. 86 and 87 : Complate
the statement,

86. Ha has no money now

87.

(A}
(B)
(C)
(D)

although he was very poor once
as he has given up all his wealth
because he was very rich once

because he has received huge
donation

He is so lazy that he

(A)
(8
(C)

(D)

cannot depend on others for
getting his work done

cannot delay the schedule of
completing the work

can seldom complete his work

an time

dislike to postpone the work that
he undertakes todo

Find the correctly spelt word

(&)
(C)

(B) Sepilchria
(D} Sepalchri

Sepulchral
Sepaichrul

Find the correctly speit word

(Al
(B)
()

(D)

Acommaodation
Accomodaton
Accommodation
Acomodation




S0,

To leave someone in the fureh

(A} Tocomelo compramise with
someons

Constant source of annoyance 1o
SOMEONE

To put someone al ease

To desert someong in his
difficulties

(B)

(C)
(2

Direction for Q. Mo. g1 and 92 : One Word
Substitution.

o1.

g2.

83.

Tending to move away from he
centre or axis

(A) Centrifugal
(B) Centripstal
(C) Axiematic
(D) Awry

Teetotaller means

(A) Onewho abstains from theft

[E‘} One wha abstains from maal

(C) Onewhoabstains from taking wine
(D) One whao abstains from malice

Order the words [T you nead help
P : promptly and politely

Q' ask for attendants

A : to help our customers

5 : who have instruchions

The proper sequence should be :
(A} SQPR

{8y QPSR

(C) QSREP

(D) SQRP

JDOD-16/PGT-AGRIX-14

Direction for Q. No. 94 and 35 Identify
the error.
Solve as per the direction given abave.

94, (A)
(B)
(C)
(D)
a5, (A)
(B)
(C)
(D)

You can get

In this book.
MNa arror

The students were

awaiting for

the arrival of the chief guest.
Mo error

Direction for Q. No. 96 and 87  In the
following question chaose the word which
hest expresses the meaning of the given
word. '

af. FORAY
(A) Maraud (@) Contest
(C) Ranger D) Intuition
g7. RECKLESS
(A} Courageous (B) Rash
(C) Bold (D) Daring
gg.  Jawaharlal spent his childhood

Anand Bhawan.

(a) at (B) In
(C) an (D) -across
gg, | hate sitting him as he

always smells of gariic.

(A) besides (B) along

(C) at (D) beside
100, Some regions of our country still

remain to the average marn.

(A) inaccessibie

(B} impossible

(C) Impermeable

(D) impenetrable

all the infarmation thal you want
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SECTION-B
Post Specific Subject-Related Questions

101, Blue Revolulion refers to 105.  Red colour in the petals of a rose
(A)  Agriculture flower is due 1o the presance of
(B) Fisheries {A) Chlarephyll
(C) Poultry (B} Xanthophyll
(D) Flood contral (C} Carotens
(0] Anthocyanin

102, Ifthe dew paint temperature is above
the freezing then which among the

108. The percentage of water in a typical
following takes place 2 b

plant cell is about
(A) Dew
Siem 1. (A} 10
(B} Precipitation
B} 20
(C) RH-100 -
(D) Evaporation b o
(D) 85
103. Indian Standard Time is related to
longitude of 107. Plant age can be found out from
(A) 82.30°E (A} Annual rings
(B) S0°E (B) O, emission rates
(C) BO°E (G} CO, emission rates
(D) 90°E (D} None
104, Which is the largest Jute producing 108. Bordeaux mixture 2a
State In India 7 (A) Weeticids
A} UP -
B W Bangal {B) Fungicide
fc} AR () Pasticide
(D} Maharashirs (D} Herbicids

A 23
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101,

102.

103.

104,

W —9
urz Tt fa - wad o

el 1 76 FEd B
(A) i

(B) wEE-&E

(C) F7%2

(D) e P

afz o el o s bt d ed
FEm ¥

(A) =
(B) wE=
(C) AH-100
(D) =THEAT

ARATE A B 34 T T AR §
(A) 82.30°E

(B) S50°E

(C) BO°E

(D) 80°E

WA ¥ WTEaE =2 T S T
T+ HEI R 7

(a) ..
(B) 9. =T

(C) =, o,
(D) TR

105.

106,

107,

108.

JDD-16/PGT-AGRIX-14

T ¥ G % TuE e s
Tt & Frm B f

(A) TR

(8) S

(C) F0fA

(D) et

TS W] S ST 4 e = i
I I R

(A) 10

(B) 20

(C} 50

(D) B85

SR 1 3T 5 AT S ] 2
(A) @i

(B) O, Feqat &

(C) CO, =1 I &

(D) wEFH

AET A Em 7
(A) S
(B) =FaEae)
(C) =hrEamt

(D) FTeEE
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108.  Milk is deficient in

110,

111,

112

A

(A)
(B)
(©)
{D)

Iron
Protein
Water

Fat

Molasses is by-product of

(A)
(B)
()
o)

Sugar Beet
Sugarcane

Wheat

Paddy

Decomposition of Proteins leads to

(A)
(B)
(C)
()

Citric acids
Amino acids
Acetic acids

Ascorbic acids

Penicilin was discovered by

(A}
(B)
()
=)

Alexander Flaming
Louis Pastaur
Ronald Ross

Roentgen

-24-

113.

114,

115.

116,

0 OO O S

Amul located at

(A) " Anand

(B) Ahmedabad
(C) Allahabad

(D) Ahmadnagar

Who coined the tarm Gene 7
(A} H.Khurana

(B} Johansson

(C) G:.J. Mendsl

(D) BrownJ. A,

The instrument that records
garthquakes

(A) Galvanometer
(B) -Seismograph
(C) Barometer

(D) Ammeter

Agricultural Census in India is held
evely

(A) 5years

(B} 10years

(Cy 15 years

(D) 20 years
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109,

10,

111.

1$2

34 F gueh) A @
(A)
(B) WM
(C) =i

(D) =

H 3EF 39 -TEra
(A) Tw
(B) =

(o 4

(D) =

T T AT EH T
(&) T s

(B) Ufiet 37w

(C) uHfem wre

(D) EERTTER o7

e w1 SRR R
(A) STEEEETE

(B) T uTE

(C) A=t

(D)

25~

13.

114,

Hs.

1186.
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ST W1 e 8
(A) @R

(B) e

(C) wFeEER

(D) ¥ERTAR

= T
(A} TE. G

(B} FEFEE
©) .3 wEm

(D) FHE.T,

D] AT =1 300
(A) TeaEERE

(B) HEmms
(C) ==
(D) T

I T e F ) S R, =
(A) S5uE
(B) 104
() 15T

(D) 20T
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117. The type of soil ideal for groundnut
cultivation is
(A} Sandy loam
(B} Clay loam
(C) Sandy clay loam
(D) Clayey

118.  Who amang the following was known

as Father of Modern Genetics 7
(A} Srinivasan

(B) G.J. Mendei
{C) Brownd, A,

{D) Johansson

118, Rainbow formatian is due ta
{A) Reflection
(B) Diffraction
()

D)

Polarisation
Refraction

120. Total Ferlilizer consumption in India

(A)
(B)

17 mit
20 mt
(C) 25mt
(D) 30mt

As

-26-

121.

122.

123,

124,

A 5 A O O

Correlation coefficient range
(A) —pto+y

(B) Ota1

(C) —1to+1

(D} MNona

Atwhat temp. are readings of both the
Centigrade and the Fahrenhait
thermometers are the same 7

(A) 40
(B) 60
(C) -40
(D) -80

Which of the following is used for
artificial ripening of fruits 7

(&) Ethane

(B] Ethylene
(C) Acatylens
(D) Methylene

Which of the following is the modified

stemof a plant 7
(A)
(B) Turnip
(C)  Carrot
(D)

Radish

Ginger
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117. Tl hwR ® M m R | 121, gegearE e
HER B (A) ~uF4p
(&) FTEETEER i A
(B) Ferepeli g e
(C) —18+1
(C) mgam oAt g g S
D
| (D) T W -
: B Rk 122, %wmﬂﬁ%mmm
= T O T 7
l fommre o W R 7
| (A) i il
(B} . F. gv2= (B e
) PR (C) —40
(D) S Bt =9
Ve R 123. ﬁmﬁ%ﬁ?&mﬁﬁgﬁwaﬁ%ﬁm
: A F e I e e 7
(A} TET ﬁq*
(B) s “ |
(B) shafew
(C) 9am
c) ufafeEi
k (D) 2mEda B
(D) FiREA

120, WA 3 340 F1 5o 00 2
124, FadashafR s s ang v

(A 17 mt

(A) 7
(B) 20mt B) S
(C) 25mt (©) T
(D} 30mi (D) ==
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125. Black soils are most favourable for the

cultivation of which crop 7
(A)  Jute
(B) Cotton
(C) Rice
(D) Wheat
126. Who among the following was

considered as Father of Grean
Revolution 7

(A) C.Subramaniam
(B) M. S. Swaminathan
{C) A.B.Joshi

(D) R.S. Parcda

127. Which of the following grean
manure crop 7

(A} Sunhemp
(8) Bajra
(C} Maize
(D) Sorghum

128. The original seed produced for the
first time by the plant breeder is called

1A) Certified sead
(B) Foundation seed

{C) Breeder's ssed

(D) Nucleus sesd

128,

130.

131.

132.

AR IO O A ey

The Pink City of India is

(A} Hyderabad

(B) Chandigarh

(C) Jaipur

{0) Cochin

Most commanly used nitrogenous
fertilizer in India

(&) CAN

(B} Ammonium Sulphate

(C) Uraa

(D) Diammponium Phosphate

Which of the following fertilizers are
not produced in Indig 7

{A)  Nitrogen

(B} Patassium
(C) Phosphorous
(D) Gypsum

Which of the following crop has
highest cultivated area in the World 7

(A} Rice
(B) Wheat
(C) Maize
D) Gram




Cw

125, et I o wee & form arege
e Anil

(A) I
(B) Fm

(C) =mEe
(D) TE
126. PO o efm o =1 eme g

AR 7

(A) Hrgaan

(B) UH.TH. S
(Cy ush. st

(D) AW, U, TS

127. P @ FE S S e 7
(A) T
(B) ==
(C) W=
(D) =M

128. 9 FARI ITHATE RSl 1 qEE
= T I O B, T

(A) TG we
(B) HFA
(C) W Wt

D) F=waE

128.

130.

131.

132.
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i ot i e et &
(A) RemEE
(B) =famg

(C) =aq
(D) =i

WA | SITH ITANT T ST S
HF

(&) CAN

(B) e Herhe
(C) i

(D) STEHTHIH FHFE

= 7 8 e ek G & E wHe ¢
(A) TEZH
(B) waHEH
(C) Fhrsns
(D) Tergmm

Tama # = 5 | v v ) afas
CERRCn S ALk
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133. Which of the following is not a cereal 7 | 137,

134,

135.

136.

(&) Wheat
(B) Sugarcane
(C) Barley
(D) Maize

The scientific name for wheat is
(A) Oryza sativa

(B) Medicago sativa

(C) Zea Mays

(D) Trticum aestivum

Potatoes stora food mostly in the

form of

(A} Sugar

(B) Fibre

(C) Starch
(D} Enzymes

The melecule which stores the
genetic material is

(A} RMNA

(B DMNA

(C) MNuclei

(DY Chromosome

=30

138,

138,

140.

T T

The structura of a DNA molecule is
(A} Circular

(B) Oval

(C) Double helix

(D) Zigzag chain

Soil erosion is mostly affected by
(A} Rainfall intensity

(B) Rainfall variability

(C) Rainfall distnbution

(D) Total annual rainfall

The main effect of raindrop srosion is

(&) Transport of soil particies by fast
flowing water

(B) Detachment of soll paricles thus
destruction of soil structura

{C) Beginning of gully arosion

(D) Aeducing soil moisture contant

Tillage is important to crop preduction
because it

{A) Destroys soll structure
(B) Prepare agood seed bed
{C) Improves soil colour

(D) Increases the acidity of the soil




133, Fedasmam e’
(A) T
(B) I
(c) == (s
(D) HFH

134, T FAFH AT B
(A} Oryzasativa
(B} Medicago saliva
(C) Zea Mays
(D) Trticum aestivum

135, 375 TR HO A 56 €9 5 69U
4 #

(A) TR
B8) T
(C) ==
D)z ()

136, 31 S FF A Al w
ek
(A) RNA
(B) DNA

[C) F2F

(D) TR
A

137.

138.

138.

140,
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DINA 379 &1 HL=41 B 7
(A) TR
(B) SUETEHN

(C) FINF=d
(D) -t

-0 ST $EH ST B
(A) =i i

(B) =ulH aiEdfiem

(C) === famm

(D) e A

91 - foreg & FHaTE - W

it §

(A) S AT I T A RS S
e

(B) it & sl @ stem B & fag
T F A

(C) T -0 =] TE

(D)  Tirgh =t ot o e = T

R IR ¥ T A e & it
(8) T Eam
(B) =1+ o w=9 A Em e
(C) P =imiww =
(D) THE!=h! stveva FmEn
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141.

142.

143,

144,

A=

The bacteria responsible for nitrogen
fixation in nodules of legumes is

(A)
(B)
()
()

Nitro-bacter
Streptococous
Rhizobium

Sporangium

The technique of growing legumes
and ploughing back into the soll 1S
known as

(A
(B)
(€
(o)

Symbiatic fixation
Nitrification
Green manuring
Fertilization

\Which is the most commanly used
potassium fertilizer 7

(Al
(B)
(C)
(D)

Sulphate of potash
Potassium oxide

Muriate of potash
Potassium permanganaie

The rate of entry of water into the soil
would be best descrbed as

(A} Transpiration rale
(E)
{C)
(D) ‘Water holding capacity

infiliration rate
Fermeability

1ﬁi

146,

147,

148.

R

Which of the following soil water types
is the miost impartant for crop growth 7
(&) Chemically bound water
=)
(C)

(o)

Hygroscopic water

Capillary water

Gravitational water

science that deals with the control of
insecis

(A) Agronomy

(8) Entomology

{C) Animal Husbandry
(D) Ecology

Aweedisa
(&)
{8)

Usaless plant

Blant that grows where it iz in not

wanied
(C) Plant which kills insects

(D) An unpalatable piant

Pracipitation is ancther nama for
(A
(B)
(C]

Humidity
Wind speed
Atmpsphers prassure

(D) Raintall
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141.

142

143,

144,

As

et =1 1R = H AR T %
foro fordam &2t &

(A) TS

(B) HHHEH

(C) TEaT=IR

(D) wArAf

et =) 3T 38 T A d e
A F FEA R

(A) FEETET T
(B) rim

(C) eha 3

(D) =W

T 0T 39T  SETe ek
T A 7

(A) TETFI AR

(B) Wy afers

(C) =iz SATH U

(D) TR THTE

T2 6 e T gt e IEE w5
=21 ATE O A9 T OFA E

(A) ETTEHEA ST

(B) = (qEi3) &
(C} TR

(D) I A T A

145,

1486.

147.

148.

JDD-16/PGT

1 8 % it = F e
gl & for sreia wemi 8 7
(&) THERE AEET "
(B) HFaTE At
(C) R
(D) e

72 T e o o A
A '
(A) FH-fagm
(B) Fr-TEm
(C) W~
(D) it~ -

pamt

(A) AN -

B) FaTfrgtz e ame me
Bk el &

(€) FFeufa R F AR

(D) sTfweH T

-

IEHT SR U AR TEE
(A} smia

() =R

(C) FAERTEE

(D) =

" |
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148~ Relative Humidity measure the
,.ffl {A) Percentage of molsture in the soil

(B} Waeight of water in the soil

(C) Percentage of moistura in the air

{D) Percentage of moisture in a
vacuum
150, A rain gauge measures rainfall in
(A)  Millibars
{B) Kilograms
(C} Millimetars

(D) Pascals

151, The sugar in milk is called
(A) Lactose
(B) Mineral
({C) Casein
(D} Curd

1582, The first secretion of milk from the

mammary glands is known as
(A) Colostrums

(B}  Mutriftavin

(C) Cuytocin

(DY Mammary fiuid

1583

154,

155.

156,

0 O

Photosynthesis is an

(A} Oxidation process

(B) Reduction process

(C) Oxidation — reduction process

(D) MNone

The geographical area of India is

nearly

(A) 128
(B) 145
(C) 328
(D) 300

Herbicide is used to control
(A) Raodenis

(B) Pests

(C) Earthworms

(D) Weeds

Inflorescence of sugarcane is called as
(A)  Arrow

(B) Spike

(Cy Panicle

(D} None
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149,

150.

151,

152.

A

T8 HTE] T e 8
(A) TE g Rl SrET e 5 afee

(B) o deE e w1 8w
(C) = F e 7ot =1 wlorwrs

(D) =Eh R4 fFE = ak

= AT T e
(A) HieEr
B) Fretmm
(C) Hiefidi=
(D) g

7 5 TR T e
(A) TEEm

(B) ==

(C) Fm

(D) =&

51 T 6 o HE TR g A
B d

154,

1585.

156..
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. WE-HTmE

(A) Stz ufa

(B} 3Ty uhwan

(C) Tl s vl
(D) =&

T = e faem wm
() 128

(B} 145
(C) 328
(D) 308
AT T 5EF Frasm & R v
T

(A) T
(B) #r=
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157, Which of the following gases
contributes maximum to global

warming 7
(A} Methane
(B) €O,
({C) N0
(D) CFC

158. The specific heat of water is
(A) 1calg
(B} 1.calkg
(C) 2callg
(D) 10callg

158, Ascent of sap takes place through
(A} Phloem
(B) Xylem
(C) Parenchyma cells

(D) Stomata

160. End product of glycolysis is
(A) Citric acid
(B} Acetic acid
() Pyruvic.acid
(D} Picric acid
A

161.

162.

163.

164.

Mirimum degrees of freedom
required for a good statistical
analysis is

[A) 8

(8) 12

(C) 15

(D) 20

Among the following which form of
watar erosion is the initial stage 7

(A) Sheet
(B) Rill

(C) Splash
(D) Gully

The number of legs an insect has is
(A) 2

(B) ©

({C) 10

oy 14

The metal associated with
hemoglobin is

(A} Copper
(B) Sulphur
(C) lron

(@ Nickel




197, B et e P e
eI fewa 3 7

(A) fuim
(B) co,
€) N0
(D) cFc

(A) 8
B) 12
(C) 15
(D) 20




DD GPRTAGRIN:14 R ¢

185. The agar-agar is a product obtained 169. Mostimportant cereal crop in India is

g {A) Wheat
e {B) Rice
(B) Bacteria
(C) Pearl millet )
(C) Fung
(D) Higher Plants (D) Maize
166. Operon concept was given by 170.  Conservation agriculture mainly rely on
(A) Messdson and Stall (A) Minimum mechanical sol
disturbance

(B) Watson and Crick

(C) Beedle and Talum (B) Soil cover with residues

(&)} Crop diversification
(D) Al of these

(D) Jacob and Monod

187. Golden rice is a transgenic of rice
171. Symptoms of Nitrogen deficiency is

rich in
(&) Vitamin A first appear on

(B) Vitamin B (A) Older leaves
(C) Caicium (B} Younger leaves
(D) Protein (C) Whole plant

(D) Leaftips

168. Which among the following crop is a
172, The major factor affecting land

degradation in India is

indicator plant for moisture stress 7

(A} Castor
(A) Watererosion
(B) Dale palm : .
(8} Wind arosion
) BHoHoN (C} Chemical deterioration
(D) Maize | (D) Physical deterioration
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165, H-3TT 37972 369 wer
(A) FEe
(B) asdiEn

(C) Wi
(D) T Tofs

166. ST e 3o 4 oft
(A) e st
(B) =reme 3 fmg
(C) Htem afizem
(D) = 3 drs

167. HEl S U8 9= 2 ey
& ol o foger oo 4 v 2

(A) FEfEn
(B) F=fmH
(C) Feriay
(D) =N

188, Tt 58 Fhelt e, it ware oy v
FAEIf 2 7
(A) Ty
(B) =g
(C) T
(D} T
As
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169, T ¥ W HEwel arr o e 2

(A)

(B) =w
(C) =remy
(D) =

170, FE i woremm so fndz v 2

(A)  =Tam T wdf i ann
(B) SHHF @I # ayr=aEy
(C) = fafamm

(D) FE&d

171, TR % 37978 5 o e v o

172.

(A) I TR
(B) q&q?ﬁut
(C) WFeafym
(D) % =i A W

MR B SHI S T S A
T 0 2

(A) FerFR

(8) IHF=

(C) TR s

(D) WrEfaE s
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173.

174,

1735

176.

As

EI'Ning is rafated 1o
(A} Forest

(B} Land

(C) Biodiversity
(D) Climate

Split application of fertilizer iz very
effective in enhancing fartilizer use
efficiency of

(A)  Nitragen

(B) Phosphorys
(C) Potassium
(B} Micronutriant

Soil have highest watar holding
capacity

(A) Laterite sqif

(B) Biack cotlon soils

{C)  Alluvial soff

(D) Red zoil

Acid soils are ameanded by
(A)  Gypsum

(B) Lime

(C)  Sulphuric acig

(D) CaCl,

T

177.  Saline soils are reclaimed by

178.

179.

(A)  Addition of gypsum
(B)  Addition of lirme
(C) Leaching of soluble salis

(D)  Addition of pyrite

If the nutrient js immobile in the soil
plant, the deficiency symploms are

first observed an
(A} Younger leaves
(B} Middie leavas
(C} Older leaves

(D) Flowarsg

Mifk turns soyr due g conversion of

Lactese 1o =k acid.

(A) Citrig
(B) Lactic
(C)  Acetie

(D) Aseorbic
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174,

175.

176.

§ 778 ot et wa e R
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(8 wHH

(C) wia-Tafnm

(D) =TT
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=1 aned Fw 4 g v e

(A) =

(B) wEETE

(C) Wi

(D) mrEH A
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GECIEAGIE

(A) T

(B) F FHE F e

(C) Fari=Hm
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T T FHEA F I T GEE =
AR
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(B) =
(C) HEHfEF s

(D) CaCl,
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177, w=via sHiE F1 59 W0 i g0 6w

= 8

(A) FoEmFqfadaa

(B) =& gfad=a

(C) 9= TU & T faurem =+
(D) e & gfada &

178, = =eef & o o P e 2,

179.

-a21-

Al AT F FG T T e 3
(A) T
(B) "=

(€) FHTH
0) F=

WARHE _ wed
iEia ER H Erm T i E
(A) Thfge s
(B) i 3
(C) THfes =

(D) THEFTEE 3
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180. Apex bank in Agriculture sector is

182,

183

A=

181.

(A) NABARD
(B) LandB
(C) PNB
(D) SBI

The dry ica is made of
(A4) Nitrogen

(B) Carbon dioxide
{C) Waterand sait

(D) Helium

Cotton fibres are langaly made up of
(A} Lignin

(B} Starch

(C) Cellulose

(D) MNone of thase

Largest size of the honey bee is
(A)  Apis ficrae

(B} Apis dorsatg

(C)  Apis cerena indica

(D) Apis mellifers

W &

184.  Silkis produced by the caterpillars of

185.

186.

187.

(A)  Bombycidae and satumiidae
(B) Coccinellidas
(C) Noctuidae

(D) Apidas

Aflatoxin s a serious problem in
(A) Tea

(B} Mango

(C} Groundnut

(Y Soyabean

Apiculture is the sclence of

(A) Tissues culture

{B) Fisherias

(C) Bes keeping

(D) Silkworm rearing

Which amang the following fartilizers
are fully imported in India 7

(A} Nitrogenous

(Bl Phosphatic

{C) Potassic

(D) Both (B)and (C)
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180. =% & =7 o i 2
(A} NABARD
(B)] LandB
(C) PNB

(D) SBI

181, Y[ =% 399 9T &
(A) T
(B) =74 =7 WigEEs
(C) Tt & T
(0} wiferm

182, Hefl 191 1 wareme ag we &
(8)
(B) =

(C) Heems
(D) TEE=EF

183, ByHEl =1 AEd 92 AR &
(A) Apis fioras
(B) Apis dorsata
(G} Apis cerena indica

(D) Apis mellifara

A=

=33~

184,

185,

186

187.

JDD-16/PGT-AGRYX-14

T I § gt g B R
(A) Bombycidae and satumiidae
(B8) Coceinellidae

(C) Noctuidas

(D) Apidae

FETTETe 78 Toehl ey o
(A) =

(B) ==

(C) et

(D) &

THRHE T 78 gEe T 2
(A) Fgad
(B) e

(C) weweat gre
(D) TwmFr=raeT

ﬁnﬂﬁ#ﬁmﬁﬁmﬁ'ﬁfﬂﬁ
AT B S E 7

(A) g
(B) wEEA
({C) SrEah

(D} (B) 3 (C)
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188.

189.

180,

191.

A

Maost harmiful insect for cotton
{A) Jassids

(B) Pink boll worm

{C) Spotted boll worm

(D) Termile

The largest tea producing in India is
(A} Bihar

(B) Assam

(C) Kerala

(D)  Tamil Nadu

Branch of science that deals with
fruits

(A) Psychology

(B} Olenculture

(C) Pomology

(D} Physioclogy

Which organism fixes atmospheric
nitregen non symbictically 7

(A)  Aroctobacter

(B} MNitrobacter

{C) MNitrosomonas

(D) Nitrosococcus

182.

183.

184,

185.

e

Edible part of mango fruit is
(A} Pericarp

(B} Epicarp

(C) Endocarp

(D) Mesocarp

Gourds belong to family
(A) Malvaceas

(B) Convolvulaceae
(C) Cucurbitaceas

(D} Cruciteras

‘Tomato belongs 1o the family
(A) Solanaceae

(B} Leguminaceaa

(C) Cruciferae

(D) WNone of these

In coconut the edible part is
(A} Pericarp

(B) Endosperm

(C) Endocarp

(D) Thalamus
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188.

189.

180.

191.

A

e = fem st e fer e

(A) T=gst
(B) TEEHEEAEE

(C) Teeien e i
(D) =hw=w

A =1 e o2 9R IEFE T
(A) faEm

(B) #&d

(C) &

(D) wiEE g

el 8 gy Hem e e
(&) HETETE
(B} SMETEIER

(C) wwFH-HTH
(D) =i e

FIH 9 G AEEEE 5
wE=E A e e @

(A) Azoicbacter

(B) Nitrobacter

(C} Nitrosomonas

(D} Nitrosococous

182,

193.

194,

185,
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AR 1 A 90 8 2
(A) HeETERT

(B) wigsmERT

(C) 37: wo-fufs
(D) 7eg Fe-fafm

g A4 o iEn | A T § 7
(A) Malvaceas

(B) Convolvulaceae

(C} Cucurbitaceae

(D Cruciferag

T T iR & T T
(A} Solanaceas

(B} Leguminaceae

(C) Cruciferas

(D) 37 & H1E

i %0 T A g e 2
(A) EEETT

(B) wEwm

(C) == w-lafE

(D) TR
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186.

187.

188.

Which of the following mango variety
ig a hybrid 7

(A} Dashehari
(B) Alphonso
(C) Amrapalii
(D) Neelum

Vitamin that prevents night blindness is
(A) A

B) B
(C) C
D) D
Water has maximum density at
(A) 4°K

(B) 4°C

(C) —4°C

(D) —40°C

195. Which part of the cocos tree is the
source of natural chocolate flavour ?

(A) Stem
(B) Leaves
(C} Flower
(D} Seeds

200, Match the following

a July 11 1. Earth Day
b. April 22 2. Food Day
¢. June 5 3. Environmental Day

d. October16 4. Popuiation Day

e, Decembear 23 5. Farmers Day
abcde

(A) 5 2 3 4 1

) & T 3 2°%

¢ +4& 258 3

D) 52314
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(a) wEEd
(B) SEHIE!
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(D) e

197, Taafim <t oeid = e
A =
(B)
(Cy =
(D) =
198, T = U4 (39 SEE W) i
wiar s
(A) 4K
B 4°C
(C)
(B) -40°C
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199, FEITEFFE fFE wEE Tt
& T R
(A)
(B) W
(C) %=
(D) ==

fm i el =sd

a 1190 1, gt () e

b. 22 37 2 ¥+ (g8) femm

¢ 59 3, TiET faag

d. 163 4 wEEmfEam

& Eﬂﬁﬁ'ﬂ! Eﬁmﬁﬂ
abcde

{A) 5 2341

(B)

(C)

41325
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Dy 52314
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